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‘ 2. A 200 500 -300
1. 24k 2 200 500 -300
‘1.1}&UH74EH 200 500 -300| (E-eAb)=-&F izt = ¢ 200,000 #13]= 200,000
‘ 3. 718 A EE54) 5,040 10,000  -4,960
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1.0] 2] 4,040 6,000  -1,960|(F7313) A FEADFol A} 40,0009 1 2l= 40,000
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1.7/ e} A &5 49] 1,000 4,000 =3,000| (ejl4sb) 3 v Zbdl & © 200,000 #23]= 400,000
H AR 22 = 3L 1) ol . )
(‘_fﬂﬂ BFEFGE (A B aid) 50,0009 500,000
%103]=
H [} ) = o
(_Loﬂ&)% A7F= LJAEMSE 100,000 1 100,000
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3718 45,308 94,935 -49,627
1.Adce| g 45,308 94,935 -49,627
1.eAAYG = 24,061 67,935 -43,874
1A Ad A=+ 24,061 67,935 -43,874
1.=AAY A 24,061 67,935 -43,874| (FA13) A AL AT  -5,939,0009x12)= -5,939,000
(A EAHALSF 30,000,000 «12l= 30,000,000
2. A G A DALE 7N 21,247 27,000 -5,753
1. AN A A7 21,247 27,000 -5,753
I AL AF A 9 A} 7 Z= 3 )T A gkl n] A}R-#
MCELCE s 21,247 27,000 5,753 T OLFEATMEG] 4RSS ~1,753,000
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(o) EA L Gu] AFE-7H 93,000,000
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